R — =

AFE B+

ROUND1-GT1
JIEAL. £ Hi B ¥ 4 TEC = ATH Total
1 (MHE R (¥ —X) 5 PR 15.96 6.84 22. 80
2 |HA a2 (s JESE) |7 PR REE 15.82 6.90 22.72
3 (=8 A (—E2 7T PR RE 14.98 6.66 21. 64
4 |85 sk &= 7T VPR RE 13.86 5.94 19. 80
5 |ARA RHES (= AfH) T PR HEE 13.30 5.76 19. 06
6 [/hR ZER O |(EERE) 7T VPR RE 12.18 5.40 17.58
ROUND1-G2
JIEAE % Hi )@ B 4 TEC ~ ATH Total
I TUA N R 13 (KplzeFEER) |7 e IEk 16.10 6.90 23. 00
2 =l &FH (¥ —X) 6 FEZIUE: 15.26 6.54 21. 80
3 | BmA (Fkfns) 11 o7 ek 14.98 6. 42 21. 40
4 |Fb = (¥ —X) 6 SEZZUE: 14.84 6.30 21. 14
5 AR HHE (Abz=fE) 12 U7 oHBE|14.42 6.18 20. 60
6 |f&RE T (=2 [l 6 FEZIUE: 12.74 5.88 18. 62
SEMI FINALS-G1
JIEAL. £ Hi B ¥ 4 TEC = ATH Total
1 |HA EZ | de3E ) |31 = v 16.10 6.84 22.94
2 |=E AEA (—E2 24 X A4]15.26 6.60 21.86
3 |MHE kR (¥ —X) 26 A= F|14.70 6.30 21. 00
4 |Bm=WN s &= 23 VA 11.48 5.10 16. 58
SEMI FINALS-G2
JIEAE % Hi )& B 4 TEC ~ ATH Total
I VA R 13 (RplZEFEHEYE) |31 = v 16.52 7.14 23. 66
2 =l &FH (¥ —X) 25 NyHA X 1]15.82 6.60 292. 42
3 [T =g (=¥ —X) 25 Nyt ZA]14.98 6.24 21.22
4 |EE WA (FFi%) 35 s—vyrr/—|14.56 6.06 20. 62
BRONZE-G1
JIEAL. £ Hi B ¥ 4 TEC = ATH Total
1 |[=Z8 A (—E2 24 i r x4 ]16.10 7.08 23.18
2 | Fi = (¥ —X) 25 Nyt A& A]15.82 6.78 22. 60




R — =

AFE B+

BRONZE-G2
JIEAL £ Hi B ¥ 4 TEC = ATH Total
I V==Y 5 (¥ —X) 25 Ny % A4]16.38 6.78 23.16
2 |MH (¥ —X) 26 A= F|15.26 6.54 21. 80
GOLD MATCH
JIEAL % Hi s B 4 TEC ~ ATH Total
1 (BAs JEZS | b5 (31 o 16.66 6.96 23. 62
2 | sk (RplZEFEHEYE) |31 = v 16.24 7.08 23. 32




